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J—larF4iar 8848 0900 KiEEEh =;8:31.5°C  JK;&:30.4°C
8H48 1200 KixEh  EE325°C KiE31.1C
8A5H 11:00 XKiz:MEh - =EF:326°C IKiE:31.0°C
8A5H 1245  XixEh  EE3IC  KiE314°C
R 7R EBE |2 HNEE | A EF |4 B Bh |5 BX M |6 HBHE BK |7 KA MR |8 FE @A
50m EIRB  H2|tEul =1 |t =3 Al =3|/\B™ E2|LafEFIL  H1|EER SUESY =3
24.98 25.39 25.40 25.46 25.87 25.90 25.92 26.02
R 7 OBR BB |7 HARKBK |2 PN EH |4 XA MR |s5 A L |6 FH RFE |7 EBE BN | 8 FE @A
100m |MEIREA  E2 (kAU B1|EER B3| EER =1 |EER a1 XKE = ES B2|FER =3
54.36 54.36 56.26 56.42 57.69 58.50 58.65 58.71
B s 7OBKBK |2 HEEE |3 G BE | 4 & ER |5 EZN It |6 EBE EI} | 7 KE BH | 8 LR 2T
200m  |EBUL =1 |eAl =2t Al a1 |EER Al T A Y E =22|FR =3 |RERT =)
1:58.75 2:05.03 2:05.35 2:08.38 2:09.61 2:11.28 2:12.24 2:16.03
& 7 BH R- |2 WE BFE |3 Lt Rt |4 WT HE |5 EmH K |6 EZM | 7 ER ME | 8 kO #WMX
400m  |HEBUL 2|t E2|KkAE =1 |ERIE a1|E B2 |IamfEsFIL =1 (AUl =2|EI =2
4:18.80 4:28.37 4:31.06 4:31.42 4:34.01 4:37.43 4:51.22 4:52.43
B 7 A XBE |2 BH EZ |3 LR Bt |4 WT HE |5 EH K |6 kB 8K | 7 BH K| ¢ FHF M
1500m  |SFUW =1 |Leal 22|KAxR =1 |ERIE I=EA =2|EN =2|KAE =1 |kEal =3
17:09.35 17:14.50 17:55.14 18:14.00 18:18.66 19:52.68 20:06.65 20:10.30
(800m) 9:14.32 9:14.89 9:24.88 9:39.85 9:35.33 10:23.71 10:33.55 10:43.88
T 7 fER £1E | 2 Hh FiE | 3 FWRE=ER| 4 EREBAAN| 5 KB BX | 6 & EBR | 7 B KH | 8 MERRKE
100m EEANIL B3EIRB B2 (kR B2 |EER =2|tAul B2 |EER =1|fErr =2|tAu =2
1:02.04 1:04.38 1:06.40 1:07.19 1:08.92 1:09.57 1:09.69 1:10.98
e 7 OHP FE |2 KB REAK| 3 BN K# |4 HEF BE |5 FREZR| 6 MBERRKE| 7 ER ¥ | 8 T E=E
200m IR H2|tLAUl Zo|memr Z2|/\BIE  Ho|im Z2|tauL Z2|tAuL Eo|EAE =7
2:20.78 2:25.52 2:29.62 2:30.47 2:32.95 2:33.24 2:38.27 2:39.30
TE 7K & |2 HFE |3 BERE 8B |4 FHN OE |5 MNEHE E |6 TEFER |7 PN ER | 8 B BE
100m ERE =2|tAu =2|fErR =1|ERI% =2|tAu =1|/Kk0OxR =3|tAul B1EIRSEHE =1
1:09.12 1:09.19 1:09.40 1:09.98 1:10.05 1:10.48 1:12.99 1:13.45
FE 7R EE | 2 HEFR |2 FFLE | ¢4 BR B |5 EHEBEAAN| 6 hH BR |7 HN O E | 8 TR ME
200m |EBE E2|KAE =3|teau =2 |RERT =1 |EER =2 | teAul =1 |ERIE S2|teau =1
2:26.75 2:27.95 2:28.75 2:29.29 2:31.95 2:33.36 2:40.59 2:42.80
Nao54 | 7 i Fth |2 BT MFH |3 REH h#t |4 BHP BE |5 NH BE |6 BR KE |7 #BE £ | ¢ BH BE
100m  |HEAUL =3 |RERT =AESS B3I BE  S1(ERIE =2|5F =1 |teAul =3 |AL &2
59.74 1:00.80 1:01.89 1:03.21 1:03.36 1:03.56 1:03.65 1:04.24
Nao54 | 1 BT MAE |2 BH BE |3 HP W5 |4 BRE AB |5 wE £ |6 ®E Zth |7 MR HER |8 HF &HA
200m  |RERT S1 |l Bo|iEIR#BH  &Ei|Fl Z1|teaul Z3 T Z2|E) =1|hEmr =
2:19.00 2:20.36 2:23.57 2:29.30 2:33.52 2:40.51 2:49.49 2:56.79
BAARL— | 7 it Bt |2 MR B |3 ZHW#H—H| <4 BB XE |5 EX M |6 B EH | 7 RH B | s BH BA
200m |HER B3| EER =2 |teAl =3 |5F =1[/\BTH 22|KAE =2 |teAl =2|5F =
2:12.64 2:14.91 2:17.07 2:19.44 2:22.54 2:22.69 2:22.74 2:27.65
BiARL— | 7 SE—E | 2 MNER F |3 RBE BEH |4 EH BN |5 RE EE |6 WIE WE | 7 F OEL | 8 KEFH HiE
400m  |HEBUL =3|teau E1|KkAE &2|5Fl =1 ER =3 | EiER =3|5FLl &2|5Fl =2
4:51.95 4:59.74 5:00.64 5:05.08 5:16.16 5:18.50 5:19.07 5:30.16
7 EeAL 2 BHER 3 MEIIREt | 4 REFR 5 St 6 R 7 KOE 8 ERIXE
. fEH E1fE chit Ha R EA FRE=EB IREF mFE REF (h 2 FH mil B
JL— i Fth EEEAA A Eig R —i8 Al XE W #A 2B EE N# EE
400m #R BA K HIR Bt WE ERS PN # B/ g pE B3 SRR ha R
wil EEE mE B Ale FE BT 0% AH BA Hlil #E L4 Rt IWTF HE
3:39.23 3:49.23 3:54.49 3:54.91 3:55.23 3:55.44 3:58.92 4:01.73
(E—ik#) 55.44 55.97 54.46 59.34 58.85 56.92 58.60 59.27
7 AL 2 HER 3 IR | 4 SPLL 5 kO 6 fERT 7 ERIX%X |8 £
\ BEH RZ oA B R EE Al XE HE HFH AT % UL REF (hR
JL— w BER mE B B Rig RE g EF fmth RIRE = BB AR &3 W @A
800m R £1E KA HMR At #& & &3 25 BH e —iE N# EE g BE
hi i EHEAA Ae FE EH BA A IR tR B IWT HE HWE Bih
8:01.67 8:25.56 8:30.99 8:40.38 8:44.43 8:45.20 8:52.10 8:59.91
(E—ikE) 2:00.36 1:59.86 1:59.61 2:03.12 2:05.59 2:05.76 2:10.12 2:15.70
7 AL 2 BHER 3 Gl 4 RERRT 5 EIRHE| 6 E®R 7 KOE 8 ERIZF
o f8E *1E chit HH & =3 R TR = BB Hh EiE W #A i FH I #HE
AFL—Ub—| =tk —pp EHEAA Al XB R —iE i T 5=+ AHE A% 2B BH =B
400m EE OR= i A KE M1 BT % i #5 RE ) N3 B
il R XA HMR EH BA i K#H R EE g BE L+ it AR &
4:05.34 4:11.36 4:16.30 4:17.24 4:19.25 4:28.96 4:29.11 4:31.45
(E—ik#H) 1:02.83 1:00.55 1:05.46 1:06.50 1:05.93 1:07.90 1:08.24 1:11.08
F BE24L B 34L BEALL 5L FE64L EIHL EE8fL
N AL BHER lipan ok RERT SPil KOE BRI B3
e = PAR 2138 9455 758 7285 602 4985 2985 2855
54 & #2681 B
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J—larF4iar 8848 0900 KiEEEh =;8:31.5°C  JK;&:30.4°C
8H48 1200 KixEh  EE325°C KiE31.1C
8A5H 11:00 XKiz:MEh - =EF:326°C IKiE:31.0°C
8A5H 1245  XixEh  EE3IC  KiE314°C
B 7 RS BEE |2 HR #iF |3 HE B 4 WICEL |5 kA BE |6 EK &F | 7 M2 HEXE | & W FE
50m |=5 =3[ tAl B2 |EX S3|EER =1EN B1|EER BE2[ET BE2|/\BTH =2
27.51 28.09 28.33 28.44 28.68 29.00 29.45 29.59
R ] EA EE |2 BR MF |3 KA BE |4 EK F |5 LTH XH |6 HE BE | 7 FAEHE| s 0A EF
100m |=5 =3|taul Z2|EI a1 |EER 2| EER 22| ER =8| EER B3| ER =3
59.98 1:01.14 1:02.40 1:02.46 1:04.33 1:04.50 1:04.92 1:07.90
R 7 ORA ZE |2 FREHE |3 FE ME |4 RHBE |5 KA BF |6 AR KF | 7 BA BDE | s HARERER
200m  |EBUL S2|EER =3|/\BTH =2 |teAl =22|FER a3|E) =2|5F =1 |RERT B2
2:11.03 2:17.92 2:18.73 2:22.73 2:25.80 2:37.51 2:51.88 2:53.04
R 7 OREA ZE |2 BRE KE |3 BILFAKE| ¢4 Bk B |5 LHAXS |6 RF*F KK | 7 A BE | 8 BETHN
400m  |EEBUL &2|/\BTH =2|/\BrE B2 |EKE =1 |ERMEE =1 (kAL =2 |EER =2t =2
4:35.55 4:48.64 4:53.11 4:54.11 5:03.37 5:04.06 5:23.05 5:23.11
EEk 7 BTEMMRE | 2 LAXS |3 $hH EH |4 W EE |5 =R YD | 6 BIE BHK | 7 BEIHh | ¢ BH BER
goom  |/\1BEE =2|ERHEE S1|EER =2| Rl =1 teaul =1 | =1l &2|5rl =2
10:11.91 10:19.71 10:25.35 10:45.18 10:55.16 11:12.18 11:13.22 11:19.61
e 7 WCES | 2 At R | 3 KBEME| 4 E@m AR |5 FB BN | 6 BEEYA | 7 FW EE | ¢ stLFi
100m |EER B1|EKE E2|iI B =3 |hAul =3|5Fl =1 |ERMEE =1 (kAL E3|kOE =3
1:08.21 1:11.10 1:11.20 1:13.05 1:14.46 1:15.21 1:16.44 1:17.95
o 7 tH EH®R |2 =W AWM |5 KT Bk | 4 FE EM | 5 BIEEYA | 6 M BT | 7 stEtFg | 8 bE @WE
200m |EEE =2|teaul E3|i@mfESFIL  S3|5Fl =1 |EREEE 51 (kAU S3kO% =3 | EER &1
2:26.04 2:32.92 2:36.93 2:38.88 2:39.80 2:45.82 2:45.84 3:11.84
T 7 WARIEKY | 2 BK Bx |2 HAWRE | ¢4 THEER |5 BK MM |6 =E tE |7 B AKX | ¢ #HA BX
100m  |EEAUL B2|RELE B2|KE B3| EER a1 |RELE B2 |EER =1 |BEFT =1|EER =3
1:16.13 1:16.47 1:19.95 1:20.63 1:21.05 1:21.93 1:22.93 1:26.16
T 7 WARIEY |2 BREX |3 HARWSE | ¢4 EF tE |5 BK MM |6 #H BX |7 & D& |8 Kx B8F
200m AL 22|KELE E2|KE B3 |EER B1|RELE B2 |EER B3| KE =3|AW =2
2:44.17 2:46.60 2:47.40 2:48.70 2:54.74 3:02.43 3:07.83 3:16.30
Naosq4 | ! BH BF |2 BA #MH|3 KA Mk |4 BEHBAZT |5 AT R |6 MM HEER|7 FE E | 8 #H =5
100m |MIREBA  S2|keAul S3|IamfEFIL  S3|EER 2| EER B1(iT =2 |ERE =2 |EER =2
1:05.88 1:08.61 1:10.54 1:11.54 1:12.03 1:12.28 1:13.88 1:18.98
NaI514 | 7 B #h |2 BH BEF |3 EX FE |4 BEHBHT |5 AT R |6 #HE T |7 EELU5 | ¢ RE BE
200m  |EBUL S3pEIRBE  Z2|FfE a1 |EER B2|HEER =1 |ERE =2 | EKE B2|EER =2
2:27.58 2:34.72 2:35.70 2:40.60 2:48.90 2:55.25 3:06.34 3:11.00
BAARL— | 7 BR HIT |2 B ®E|3 &# & |4 EX FE£ |5 T BE |6 WASHE| 7 =R Y | 8 0K EE
200m  |EEANL Z1| kAL Z3|/\BH Z2|HE Z1|5FLL =1|memr Z2|tAuL =1|iaETIL &
2:26.89 2:30.40 2:37.74 2:40.89 2:42.46 2:46.65 2:50.26 2:50.70
BEAARL— 7 BRE OB |2 B RE |3 XF & |4 hHF ER |5 HA TS |6 FH BE |7 KB T | ¢ AE K
400m AL =1|tau =3|/\8m™m B2 |EER E2|EER =2 |RERT =2|tAul B3 |EER =2
5:08.46 5:26.05 5:35.25 5:48.48 6:11.89 6:40.28 6:40.80 7:01.15
7 EeAL 2 BEER g ER 4 RKE 5 IN=h 6 Kig 7 Sl 8 RERRT
. B fiF wCEs wHE B& 5k %A I & BN KR thif % B8 BX
JL— B fIE Ak & HE BE At FIE Ik T E KFIGEH FB5 ¥ RE =%
400m AR &Y EAYME HHEHED EBEL05 )i Fnzs W R 2* 5x HAWEER
RE 2% tH E#H mN &E WHBEXEF hE MR HARNSE WA FF WAL T
4:08.31 4:20.62 4:25.56 4:39.48 4:40.13 4:4513 4:46.45 4:52.54
(E—kE) 1:01.94 1:04.04 1:07.01 1:04.54 1:07.37 1:13.12 1:08.97 1:09.60
7 EeAL 2 BHER 3 R 4 RBKE 5 SFU 6 KiE 7 RERRT 8 AWl
. RE 2% ik A& HE B% 5k %A B ®m BN KR BiE BK BA Bk
JL— BR fE TH x#H wE 8% At FIE thif BWE W M yEH B2E MR X
800m A &Y wWhlcEs N BT MEEEF 2% 55 KFHEER BAMEER il BAE
Bt #fiF FERAEHE HEHED EFHEHVAS WX HBF HARNEE WAL ThE XE BE
XE&H | 90242 9:32.67 9:54.42 10:12.95 10:31.98 10:39.11 10:55.98 11:42.31
(E—ik#E) 2:12.40 2:24.71 2:24.38 2:22.08 2:32.55 2:43.33 2:32.59 2:55.00
7 EeAL 2 BHiER 3 Sl 4 ER 5 RKE 6 J\BTH 7 RERRT 8 ERE
S =i A TH EH hif BE HE BHE At FE IF 1% WAL T ne =
ARL—=Ub— kT &Y EEEEMN WA EF i BE fiAt =% 7 BiE B % EE
400m BERS Ty =S FE Fm BE BE hEBEL05 HE B % TE AH BX
H{ #iF k& BH 52X HEHED 5k %A Wi &= HFAMEE WEHEEHE
4:39.01 4:45.72 5:09.38 5:13.31 5:15.30 5:15.98 5:28.45 5:35.69
(E—kE) 1:12.52 1:08.81 1:17.09 1:16.15 1:11.97 1:13.15 1:23.03 1:18.31
F Fr X1 FMI 5L b3 EIHL B84
"“\Aﬁi"F EeAL HiER ER RBKE SFL J\BT Kig RERRT
e T RGRR 17555 14055 485 4285 4055 4085 2655 225
AFEER19[E B HYL—BHITKB|[XIL—BAEIZED




